PAPER - I1I
ECONOMICS

Note : Attempt all the questions. Each question carries two (2) marks.

G@HLY : eréver eflenmés@Ers@Eh el wallssea|b. geubeurarmlh@d @rear®h (2) wdHituearsar.

1.

The velocity of money is defined as

1)  Ratio of GDP to money supply 2)  Ratio of GDP demand for money

3)  Ratio of GDP to the price level 4)  None of the above

Blfluflerr eflenreuanere| SLpdGarTL UMM eUaFUIMESILOSH DS

1)  GDP &4z : uent auphise 2)  GDP &dlgd uewmsHparer Csanel

3) GDP &liflgid : eflene iemay 4)  BIENGELD e

A decrease in the income tax rate has a ——————— effect on labour supply if the
effect dominates.

1)  Positive : income 2)  Negative : income

3) Negative : substitution 4)  Positive : substitution

aumorer eufl 6igh @GBSI Qgmdlemert eupmisadle ellaerancus

Camhmiellss) cllenare| GoGavmmi@Lb.

1)  Crirwenm : cu@HLOmETD 2)  erdlioery : eUHLOTETLD

3)  erdlitweny : LaSH 4)  Cprwenp : LHeSH

Which two of the following situations are most likely to result in 'demand pull'

inflation?

1)  Arise in investment of 5% with a rise of productivity of 5%

2)  Increases in the rate of savings and the rate of taxation

3) A rise in the combined value of investment and government spending of 5%
with no change in productivity

4) A fall in the rate of savings and the rate of taxation for an economy already
operating at full capacity

EC sriul L eThS @) (heuamasd @& ‘@ (pellenss Coamen” LianTaiss allanerelled (piqoua?

1) swrfduerelle gbg 6l(saT(H shliyLer, (Pl iged @bgl 69(WasTH FHaMib

2)  Gelluy eissde oifsmiyb, eufleldls oidshiiyb

3) wpsSligan gl () wdliy SHsfliyb ordler Qewea) 5% pamed swmillineareiled ereuels
LOTHDPLD @ enew

4)  Csully elflgsder sflay, wprp emeiler QFwdLHL @ cuams QUTHETTSTTSS Hemen
auffl el elSlsLb

The concept of economic growth is:

1) Identical with the concept of economic development

2)  Narrower than the concept of economic development
3)  Wider as compared to that of economic development
4)  Unrelated to the concept of economic development

‘QumrpeTrs Ty eUeTTES TED HHSSTEHED

1) Qumrmertsmy wWperGardmLd eTery H(HSSTESSMS RS5F)

2)  Qummernsny (perCarhmibd 6T HHSSTEESMmS 6l Gndlwg)

3) Cummermsmy (penCarmmsgLen ellHeansulled LpbgLL L g|

4)  Qurmermsry WaCarHnsd &HSSTESESSIL 6 ereuauamaulayd QsTLTLDHDE
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5.  Which of the following is inconsistent with the Schumpeter's theory of development?
1)  The course of growth is continuous

2)  The output expansion, initiated by the entrepreneur, increases in size with time,
making it cumulative

3) Growth takes place on account of entrepreneurs who, with the help of bank
credit, invest in innovative activity

4)  Capitalism destroys itself by being successful through the erosion of its
institutions, by the hostility of its intellectuals and other elite classes, and also
by the weakening of entrepreneurial innovation

avsCLfer ‘wparGeamms QararansuLer SSSETL eTédnhm (Tl Lg|?

1) eariddl Qgrii Hlspeum@id

2) <l msH effleunssd swsmPed perarCeurpmed peamafimSsLL(H eTeleib,
smsl L sHaib Frmas Sy cuerrs Qaidlpg).

3) Qsmfle earGaurnisdr amdls sLauged Qarar( ygFdswouriigd psa@H
Qelieugmed cuerm&sl penL_GumSng

4)  psoraliggied garg Bneuambsamer dlsfsse CFwdurige Cemdlsyoms
rHULB iser sPleumeafisenerwd, Wp 2w eu@libeenybd, earols Gursdlerme
NCrmalsg sw@gmfle waaCeaurrg LgHE Shsmearsamer Galelsgs seargrer
Slfleneus srGen Colq.6 Camardlng

6. In Schumpeterian theory of economic development, innovation occur if
I. Introducing a new commodity
II. Introducing changes in the organisation
III. Discovery of a new source of raw material
IV. Discovery of a new markets
1)  Both (I) and (IT) 2) (D, dII), and (IV)
3) Onlyl 4) (D), dI), (ITI), and V)
avs b L fer QummerTsy euatids Qararansuflerily Lig QFwepan erliGung ghuBEng
)
I @ LFw Qummener Ml psliLihgsnbCUmg
II.  flmeuearsdler ydw wrpmrisamer Hipsliu(BSgin Gurg
III.  ygleuens s&aml QUMHET YSTTEMSS SaT(Hlg&5@EW0 CLTg)
IV. gyl shenssamens searLdlujb Cumg
1) ) womd dI) & 2) (D), (II) wpmd IV) < dwen #fl
3) (D) wl®HGw e 4) (D, dD), dII) wpmb AV) &M

7. Which of the following criteria got the least weight age by the 14t Finance
Commission while recommending horizontal distribution?

1)  Population 2)  Demographic change

3) Income Distance 4)  Area

udlemmanasreugl S L &G el L udiellh@l ufbgmrssareudmieT 6Ths eetn LO&O%ESE
GdNHS 2leredlerer Helarsamsll CLmmg)?

1)  w&sdr Asrans 2)  Gply @iy eldls wrHpid

3)  aumaurl @enL_Gleuafl 4)  upiy
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10.

Under a managed floating exchange rate system, the Nation’s monetary authorities
intervene in Foreign Exchange Markets to —

1)  Smooth out short-run fluctuations in exchange rates

2)  Smooth out long-run fluctuations in exchange rates

3)  Smooth out short-run and long-run fluctuations in exchange rates

4)  Keep exchange rates fixed among a group of nations

BMIGIGTLD (LPSET (LPENMWITES 6 LIMkIEGSMET LD&&@hd @ edlhuamer GlFiub uflbrbm wpenmés,

ghmiwdl Cgesdlen Bldlert oflsmsder o amCermt opHlw LfeTssmar misTgHald
Saneoudl(HHe

1) uflordp Adsmsaile EndHu sre ghp @nésmsamens frenLod @D

2)  uflorhp eldlsrigaicr Berr sTew OO @MEERIGMETF ETenLDSEGLD

3) uflbmhp ddsmseaier Gndwu srw, B srew ghn G DEsHIEMmeTE EFenLod @D

4)  uflorHm aldlsmsamer e @ (paursa drer CoFmigERsE G Cw HleapaliLHiSgImn

The plan expenditure on Revenue Account of the Union Government includes
I. Economics services

II. Social and community services

ITII. Grants-in-aid to States and Union Territories

IV. Loans and Advances to finance public enterprises

1) IandII are correct 2) I, IT and IIT are correct

3) I, II and IV are correct 4) I, 1II, III and IV are correct

weflwer < pélen Qgaes S L cuHeumil samd@s SPEa@TLcuhenn o aTarL &g

I Qummermgrrg Caeaneuser

11. Fps, G (W& Crapausar

III.  wrhleoriger wHmib weflwer rCsamisEnssTs 2 Sl ST Lome winI&eT

IV. Qurgis sienn cuanflss QFTOQIESTET (PETLIGRTLD SL_6T&GET FTiT (g6l (H Bl

1) T wopob Il ypfuer s 2) L ITI wombd IIT oy Hlwier e

3) L IL IV gy flwer gl 4) L II, III wombd IV o dwer s

Which one of the following items has the largest share in Indian export in terms of
US-Dollars?

1)  Electronic goods 2)  Leather manufactures

3) Readymade garments 4)  Gems and Jewellery

Epa@T_cupm@GET 6ThS qatn, @bSHw erpmiwduied W, erev Lrer wdiinded s s Likig
cudl&dlmg)?

1)  Wemeflwe Qumrmlser 2)  Ggré swrillger

3) QUSSP AL SET 4)  sHs6r LHOID SanflEaeanaser
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11. Match List I with List IT and select the correct answer using the codes given below.

List I

a)  Hamilton -List effects
b)  Marshall-Lerner
c) F.Y. Edgeworth
d) Jacob Viner
Codes :

a) b) c) d)
1) 2 3 1 4
2) 2 3 4 1
3) 3 2 4 1
4) 3 2 1 4

List IT
1. Trade creation and Trade diversion.
2.  Infant-industry argument.

3.  Elasticity approach.

w~

Impoverishing growth.

uligwed Ty uliqwd IT o 6 Qummsds $Cp sriul@erer @oluihsamers Lweu(H &

sflwren ellenLanwig Coitay CFwis .

uliguwed I

a)  apnmieLer—elemerea geflen Liliquic
b)  wmirged — Qevitet
c)  erl.gulersHeumis
d)  grslelent
GIIMOEL -

a) b) c) d)
1) 2 3 1 4
2) 2 3 4 1
3) 3 2 4 1
4) 3 2 1 4

MO0403

uligwed I1
1. amgss o (heumssd WLHMID UTESES

Flenarmmid

2. ERaluumea-Gsme efleursid

3. Qpdlipe) amiEue

4.  aeriFSlenw culsnd@Esen



12.

If the money supply is : The interest rate is :

$100 billion 10%

120 billion 8%

140 billion 6%

160 billion 4%

120 billion 2%

If the interest rate is : Investment spending is :
10% $10 billion
8% 20 billion
6% 30 billion
4% 40 billion
2% 50 billion

Assume that equilibrium GDP is $400 billion, potential GDP is $500 billion, the
marginal propensity to consume is 9/10, the interest rate is 8%, investment spending
1s $20 billion, the money supply is $120 billion, and the reserve requirement is 1/10.
By how much and in what direction should the Central Bank change the monetary
base?

1) Increase it by $20 billion
2)  Decrease it by $100 billion
3) Increase it by $90 billion
4) Increase it by $2 billion

BCwTED @) g6 eueaflad aullg eNlgD @)5)
100 GeveSwier 10%

120 QeveSuwieor 8%

140 QévaSlwer 6%

160 GeeSwier 4%

120 QeveSuwieor 2%

auLllg &S @) g 6leuaied WL (HF Cewa| @)g
10% $ 10 9evadwies
8% 20 196vedwier
6% 30 19evadSlwieor
4% 40 YeéveSlwer
2% 50 19eveSlwier

aSHArHCr QuniEb sréshisErsE Qaulorear frawdbilaa GDP erearug $400 Gaoadwer,
o aremmppey GDP $500 Gevellwien eranmy eneusgis Camenrme, efafibLbleney smy HISTe]
9/10 aullig elflgd 8% g (HF GFeweay $20 Werallwer ueamr ellaCurgd $120 Gaalwer,
aallis Caaneu 1/10 enow euriludlen LIeTSS6TLD 6THS iaTey LoMMID? 6THE Hengudleh Lommib?
1) $20 Yeodlwearms Hafsss Qewiub

2)  $100 YeveSlwens Gepwd QFuiuyb

3) $90 Yevellwenrs flafsss Qaiyb

4) $2 Gvedlwenns Flafsss Qb
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13.

14.

15.

16.

17.

The size of the bank’s portfolio does not depend on

1)  The bank’s reserve position

2)  The existing economic conditions

3)  The total amount of its deposits

4)  The foreign exchange reserves

cuiidlufler QummLi9ed 2 erer Gienmaaflen HeTe| SPSETL 6THhS QRETDF FTTHE HenLDEIS LN
1) eumdluler engufmLiy Hlene

2)  Gurensw QurmeTTsTrE GLpblaneser

3) @LOCwrss emaeilil Qgrens

4)  opplul uflorbp CeosamsuldimLiLy

Industrial Act was passed by Parliament in

1) 1947 2) 1949
3) 1951 4) 1956
umym@pemsHe Qgmflogiemng L b HlavnCeummiiul L e
1) 1947 2) 1949
3) 1951 4) 1956

Industries of basic nature were included in

1)  Core sector 2)  dJoint Sector

3)  Consumer Sector 4)  Co-operative sector
Qamagimpaaien gL Quihans SpS@TLcuhenn 2 6TaTL &l o drerg

1)  saews e 2) QG oemas sienm

3)  msiCeurt gevm 4)  smL(Hpeys s

In sectors like food, chemicals and medicine, process patents are granted under
Indian Patent Act for a maximum period of

1) 2years 2) 7 years

3) 12 years 4) 14 years

@pdwu sriyflennd sl gdlemig, 2 are|, CouduGummLger, wmsgieus QUL GET FTihs
sy flohised ofasul s seralld EpssTamib <6 (HEEHE®E euphisLIL(HE ammer.

1)  2eumLiisdr 2) 7 eu(pLriger

3) 12 cugpLrsar 4) 14 cumLriser

‘Dominants Understandings’ covered those which controlled atleast —— of
production or market of product.

) U3 2)  1/4

3) 1/5 4  1/6

> wipCammudlu Lfpgeariesdr 2 pusd g Qumplsbmsmus Spssrand N85
Sjaradler sL_HLLBSSISDG.

1) 1/3 2)  1/4

5 3 1/5 4) 1/6
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18.

19.

20.

Sustainable economic growth depends upon

1) Investment, not saving

2)  Saving, not investment

3) Both saving and investment

4)  Neither saving nor investment

Blevaowimen QUTBATTSTY cUeTTES SLpSSMTLNSE FTTHIICTETS)
1) pseh e Gl

2)  Cafliy <emmed (psedH e

3)  Causlliy wpsed®h @reamenuGo

4)  Gelllenuyb smreilevana, (PSSl amLwb Fmrelileana

Which of the following is NOT considered as a social indicator of poverty?

1)  Lack of transportation 2)  Illiteracy level

3)  Lack of access to health care 4)  Lack of job opportunities
EpsarTLeuDMIET 6T eumianoudler Fepss GMUI(H A& SHSLILILellerana?

1) Gurs@eaursg eusduflerento 2)  socludeipmeur eldlsbd
3) 2L epeob Qumb eumilidereno 4)  uenfl cumiiys6T @erenio

How do District Rural Development Agencies (DRDAs) help in the reduction of rural
poverty in India?

I DRDASs act as Panchayati Raj institutions in certain specified backward regions
of the country.

II. DRDAs undertake area-specific scientific study of the causes of poverty and
malnutrition and prepare detailed remedial measures

III. DRDAs secure inter- sectoral and inter-departmental co-ordination and
co-operation for effective implementation of anti-poverty programmes.

IV. DRDAs which over and ensure effective utilisation of the funds intended for
anti-poverty programmes

Which of the statements given above are correct?

1) ITandIV 2) Il and III

3) L II,and III 4)  All of these

Symoliyp eumewawsd Gmnss @bsureie wrel L Syrolyn perGardn (PSenEHET

(DRDASs) ereusumm 2 ey dlermer.

L. wrell L dyrolign  wperGammn  (psamwser Cossder Hao @GOG L 1GDengnidu
L@dsated Lighamusg) rme) blmieuenmbigearmad Glgw e (H&lermer

II.  eaumerwsE strewhser, oal | Fggdlemenns srrailasmerts umPl sidleflud Lfenrs
SUBSHS QLD TS 16 Qauig, elfleurer renwliy peppsemand @GO Serner

III. aumero  @PILE S misEnsstar sl (Hney giopsalar qmmdameane gl (HF
Qeweurpseer Apliuings QgwaduBhss DRDAs o gajdleamper

IV. amew ehiliyg HlLbsepssrar Hld egasl el dplurst uweau®ss DRDAs

> g flaTmen
CuCGe griiul L alameudmieT crened &iilliTerane
1) I womywIV 2) II wpm III
3) L II wpmywbd III 4)  S@aFHID
9 MO0403



21. Which of the following statement is wrong about Indian agriculture?
1)  Share of agricultural GDP has been increasing
2)  Share of agriculture GDP has been declining
3)  Share of agricultural GDP has been constant

4)  Share of agriculture GDP declined up to 1990-91, thereafter increased
substantially

@QpHw efeusmusamnss QUIMSSeumT SSTEmD aursdwgHed ergl sflwimeng emmn?

1) eeusmusgissrar GDP uki@ o1fsfss aumdng

2)  eusmusgisstar GDP ukig ganbg eumSng

3)  aleusmwuggissrar GDP ukig Hlevoowns @mbgl eumSng

4)  1990-91 aueny efleusmugdnsrear GDP gaophgl cupgl, sigenier sanflgnns oidsflsss)

22. In India those farmers are called ‘marginal farmers’ who hold the land upto?

1) 1 hectare 2) 2 hectares

3) 3 hectares 4) 4 hectares

@ndureile @ng eleusrulser eflaflbLblane efleugmulien cranneanp&sLiLI[HSETMETT SjeuUTsHeaTg)
Blevgdler e

1) e CansGLm 2) @uewr(h CeansGLiser

3)  eperm CansCLirger 4)  pren@ CansCLrger

23. New National Food Security Mission (NFSM) with an expenditure of Rs. 4,882 crores
in the 11t plan aimed at ensuring adequate supply of

1)  Rice, Cereals, Pulses 2)  Wheat, Cereals, Pulses

3)  Rice, Wheat, Pulses 4) Rice, Cereals, Wheat

ydw Csélu 2 ewmey urgsmiys siLeaerl Uil e 4882 Camgser Ceaelansgem
udQemmermeurg S sdla, Cumdw aupmIGm 2 M GFluDd Ga&EL e
2_(HeUT&ESLILIL(HETeTg)

1) <M, sreflwmiser, UmLILY euasEeT 2)  Gargienw, graflwrhisdr, LimLL cuamaseT
3) <ff, Cargieno, LiHLIL| eUENSSHET 4) M, greflurisdr, Camgenwo

24. What is the targeted amount of credit flow to agriculture in 2014-15?
1)  Around 7,00,000 crores
2)  Around 8,00,000 crores
3)  Around 9,00,000 crores
4)  Around 10,00,000 crores

2014 — 15 <yib yamged efleugmugdnarer Hliiaruigsiil L eugeilar Bl ojeme]
1)  7,00,000 Csmgsemer el iqui CsTens eme]

2)  8,00,000 Gamgsemar L g GFTens ojeaTey

3)  9,00,000 Camgsaer el gl QHmens 2jeme

4)  10,00,000 Camgsaer el g1 Q5mens 2emey

MO0403 10 H



25.

26.

217.

28.

In input-output analysis, [I-A] matrix is called
1)  Final demand matrix 2)  Technical coefficient matrix

3) Intermediate demand matrix 4)  Leontief matrix
2 aaf(® — Qeuaflui( ugliumieia [I-A] @iHssb Qhimend SampssliLBEng

1) @nd Cslymd oBHésd 2)  Qsmfled mILU GaTs S(H&ED
3) @bl Calymnd HEs0 4)  OlGwmeng 't S (HEHD

Which one of the following cannot be called as data?
1)  Cross — Section data 2) Panel data

3)  Engineering data 4)  Time series data

EDSSHEHT_cUDMIET 678 HT6 ereimml H(HSLILHeuSHrenav?
D ewseu dfle srey 2 »Wssre) - sRBZIOTE GWS STe
3)  Qumdlulwe gray 4)  sme Coy eufleng

With regard to OLS, which of the following assumption is wrong?
1)  The uis independent of the explanatory variable(s)

2)  The explanatory variables are measured without error

3)  The explanatory variables are perfectly linearly correlated

4)  The macro variables are correctly aggregated

OLS Qgrifumer SLpssramilbd eThg &(HECaTer Soim?
1)  eflerss wrdlsafleh U eremg) SHFTTLEHLUI OTH]
2)  &flerss wrlser seudlemm emellLiLi(hdlermer
3)  &ferss wrhlger WaE silwmer Sanfleufleng wpenmuded gpammGlagmenm QFTLTLenL_Uiem

4)  Gufler wrlser sMlwins emiiSlenanhbgieTeren

Cross demand is the change in the quantity demanded to a given commodity in

response to the

1)  Change in the utility of another commodity
2)  Change in the price of another commodity
3)  Change in the nature of another commodity

4)  Change in the size of another commodity

es5SHagainm Coameu ererug) srliLl L GQurmeien crameallsanss Coameuuden CrHD LIHMID

EDGHHTL_nsF FTTHE SiemLS DG

1) whQprm Qummeier LiwieTUT(H&E LTMG6H
2)  wpLprm Qummefler alleneuiled 2 et THMLD
3)  wpGprm QuImETr G L

4)  op@prm QuIET Sieradld LD

11 MO0403



29. The chairman for the report of the committee on capital account convertibility by
Reserve Bank of India in 1997 was

1)  Tarapore

2)  Hirshman

3)  Dunkle

4) Jha

posas sarss wmn GHss @odu Cswhldl amdddan tasas saés LIHHIEPD
<ifldams 1997 sLmfss <o éE el smaat

1) smmCGumt

2)  Aicvoen

3) Lmdlar

4) ar

30. Counter trade is
1)  Barter type of bilateral trade
2)  Export and imports are mutually linked
3) Making money payments

4) Both 1and?2

TEMen_ QUTSSSHLD 6T6LIG)

1) uewLwrpm wpeon Friflenent cuentlsnd

2)  appwdsEb, @néEdsEn urevur GoeatimL uig)
3)  uar Ul (Heurm Cguise

4) 1 wpmd 2

MO0403 12 H



The difference between production and on-farm consumption is called

1)  Market surplus
2)  Marketed surplus
3) Demand

4)  Total supply

2 HUSEHSEGLD efleusT BISTSNISEGD @anL ulemer Coumuim(
1) omsmg Bas

2)  puemarsster Wens

3) Gzeeu

4)  Cwrss euphIsHD

Which of the following are the recommendations of GATT with respect to agricultural

sector, causing concern to India?
1)  Forcing the government to reduce the subsidies given to Indian Agriculture
2)  Import three percent of the domestic demand for agricultural products

3) Requiring the patenting of seeds, forcing the farmers to buy them form

multinational firms.

4)  All of these

GATT ufpgiemrseid ofleusrusHdp@iu s uflbgienr @QpHu eleustusHer WBg

Slssmnaws Carhmelssng ?

D @pslu eflousmuggs@s srinb wrellugomss Gmps@buly. iTems Bliubissed

2)  odBM(s Csmamui shdés, efasmul Qurmseld pann ol (pEsM g aar
@n&@WwS Calige

3)  dlegsmers sriLflend Q&g eleugmulsaeris LeramT(h Hlmeuambsefl_Olmbg Gum
Broupslsse

4)  Cuopsmplu Simerggb

13 MO0403



33.

34.

Who among the following is the author of “Crisis of India”?

1)  Ronald Segal
2)  Dostovasky
3) Karl Marx

4)  Edward Gibbon

“@ndHwreler Qpmesly” eren Bredlem <&M wirm?
1)  Cyrame@ &s

) rauCsramas

3) SFTITED LOMTEHEN

4)  erleur(h&iLien

In the indicative planning
1)  Consumer sovereignty remains intact and democratic

2)  The private entrepreneurs cannot obtain profits

3)  The working of the market forces fail to bring about proper adjustment between

demand and supply

4)  All of the above

‘o anTTESH’ S LOIL_adled

1) msrGeurt @enunamenio &5hETOMGa|D SF5SMsea D 2 6Terg)

2)  seaflunt FlnelamhiseT @eaTULD LITTés (Lpiguig)

3) omsmgsaie GeuduBib elassdr Comel cuphisd @G wpenpwirer FrenolienLid

QarenTys Seumid

4)  Cuheadu wreyb

MO0403 14



Long term represents
I. The time period when all factors of production are constant
II.  The time period which is more than one year

III. The time period when all the factors of production are variable

IV. All the above
1)  Only IV is correct
2) Tand II are correct

3)  Only III is correct

4)  Both I and IV correct

‘Bawr sred’ ArHHsgeuiLBsgieug)

L swrillber Sieneandgis gmis@hLd Hleanewms: @) més&Hdnlq Ul STasL L LD
II.  guran(®&E Cuhul L sres Lsmss GD&HEL0

III.  swrfider Siamerdg s gams@hd WIPSET STedL LD

IV. Cuphemdu ojemeanggb

1) IVl @mGwesf

2) T wopmyo I &M

3) I wlHCw &M

4) T wpmd IV sflurerencu

Organisational slack means

1)  Inactive organisation

2)  Ineffective organization

3) Ineffiecient organization

4)  The difference between available resources and required payments

Blmicuer HSLD eTeTLIg)

1) Gewenp Hlmeuerd

2)  uwerHm Blmeuerid

3)  dmerhm Himeuerid

4)  SeoLsdam epacuerhiger, CoameuliLBb Lead HHu Qe ais@n @ e ulemer

Goumiuim(h
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37. The slope of the “Product Transformation Curve” measures

1)  Marginal Rate of Product Transformation
2)  Marginal Rate of substitution
3) Factor elasticity
4)  None of them
Qumrmer wrHm euaere| miiblena Fiflay D& Heug)
1) Qummer wrhm aflefliby Blenew ebdlsL0D
2)  udlal efeflibybleney el 50
3) AU5sE gFmm (Bdlipeys Semeno
4)  Cuwpamdw ergieylenm
38. When the demand curve for a commodity is rectangular parabola, a fall in the price of
the commodity causes total expenditures on the commodity to
1) increase
2)  decrease
3) remain unchanged

4)  any of the above

@@ Qurmefler Caameu cuenarey Beragy umGuUIGomeuns @mbsTd, Qurmeiar allanauie
Crmb sfle] Qunmefler Gwrgss el amigamarnubd

1) 9IS M@0
2) GODSELD
3)  wrppleandl QmsEd

4)  CuopsmpPlu eTgie b e
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39.

40.

41.

According to the basic quantity theory of money, increases in money supply will raise
the price level but in the long run

1)  The real variables will be affected

2)  The real variables will be unaffected.

3)  The nominal variables will be affected.

4)  The nominal variables will be unaffected.

Slgliuen  BlF  erawr  Csmeatengufeniyg, vearl uflafssaanuie egHuBD  Slsfliy
eflemavenwiyd 2 wiTsHl, BewrL sme ojemeliled

1)  Qudwrer wrhger $TéEsaI5HE <errslemmer

2)  Quuwrer LINSET STEEGSNISHE Y 6TTeUS DN

3)  G®DHS SjeTellenar gl L TPISET STEHEGSNIEHE, TS 6T

4)  G@DHS SeTellenar gl L IPISET STEHEGSNISHE % 6TTeUSdena

Which of the following statements is/are correct with regard to the efficacy of
monetary policy?

I Investment response to interest rate should be larger.

II.  Income elasticity of money demand should be smaller.
III. Interest elasticity of money demand should be smaller

1) TandII 2) TandIII

3) IIandIII 4) I, Il and III
elenarLiwenans S BHoRLw HHs Qsrearas GhsSs Spssranbd eursdwunisaie creane
FRlwImTeTenel?

I wpssSligpamear el iy eldsb Sifawns Q) mssean

II.  wews Coameusnt aumealmil GbSlpe| Gameuns @) HSSHe

III.  vews Caeneustt aul iy GBS GHdDaUTS @) (HHH

1) Twpmd Il 2)  TwpmoIII

3) Il womwoIIl 4) L ITwpmwo III

“If all the conditions required to achieve Pareto optimal cannot be satisfied, trying to
achieve as many of the conditions is possible, does not necessarily increase social
welfare”. Who, among the following postulated this idea?

1)  Pareto 2)  Pigou
3) K.J.Arrow 4)  Lipsey and Lancaster
unrCrlLr <yligsame Blepe| QFiw marss elfsamerud Hlewme| sl @uiemeilige

Wyhseuamy erssamen elldlaamer Hlanmae GlFwiw (wpiquCom, Sissamen ellflsamer Hlanmey ClFuise
Feps bOSMG NS MLILSTHES CETeTeUSDHDMD TR &H(HSMS (LPETENESSEIT WITT?

1)  unGpGLnm 2)  9Qser
3)  Gs.Gxm.<=Crm 4)  SlU8 wHmib eBESTESLIT
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42,

43.

44.

Which of the following policy-prescriptions for economic growth was suggested by
Ricardo?

1)  Government's active participation in the economic field
2)  Free trade in commodities
3)  Control over population growth

4)  Regulation of competition

Qummermgry  elatidslsasrer  Oelms olfls @dllys Osmatansuie MasTrGLTouT
ufbgenreEsiuL L gl eTgl?

1) GQumrmetlwe gergdled pflenm (pgenenio LBIGCEDHLEF ClFweum(h

2)  Qummlsefler genLwibm cuentlsDd

3)  w&seT Agrens euerdsls s (BT

4)  Gurligerw @pni@GUHSSE
The basic logic behind the 'big-push' strategy of development is related to

1)  Internal economies 2)  External economies

3) An optimum combination 4)  Both (1) and (2)

Quilu gerEp ellens Gummernsmy dellmsd Cewd S sHer SjgliLen FTSUMTLID

@zl 6 QT enL_Wig
1) eampri® Qumrmeflwe 2) Swest Qurmeflwe
3)  o.&F 2wl ere] ellenerLiwie 4) (1) wpmbd (2) YSHwu @rarr(Hb

Which of the following is NOT correctly matched?

1)  Big-push strategy: Paul N. Rosenstein- Rodan

2)  Balanced growth theory: R. Nurkse

3)  Development with unlimited supplies of labour: A. Lewis

4)  Critical minimum strategy: H. Lebenstein

&G Ll Leupmer erg) sflwnss Qummbsedeane?

1) Quembgereneilang Gawed L b : Lima erer. Crmbsemevie sm — Grmen
2)  swat@slg cuerrESs Qarerens — 1. HT&ECE

3) s whn LetleuprisaiL e e (WerGarhmid — 6. sdedlen

4)  Qpm&sy G@DHSULF QFwe LD : o1 CauieTavie s
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45.

46.

47.

Fiscal Deficit means

1)  Public Expenditure — Debts from source other than RBI
2)  Public Capital Expenditure — Surplus of Revenue Account
3)  Govt. Expenditure — Revenue Receipts

4)  Public Expenditure — Tax and non-tax revenue

Brligan bl uppIEGED erag)

1)  Qung§ Qeewa— RBI wjdvens Gp epeomisaiadlmbg GUmLD &Lsrger
2)  Qung sl H& QFawey — LBlens 6u(HeLT STéHESE,

3) SreF gwey — aumeurls Qrégiser

4)  Qumrgé Qeowe| — eufl Hmib euflwdens eumeumit

Which of the following schemes has a link with the income declaration?
1)  Gold Bond Scheme

2)  MUDRA Scheme

3) Pradhan Mantri Garib Kalyan Yojana

4)  India Millennium Bond

EpsETaDID AL safd ahs G S LI aimaum eifled i ar QT ws)
1) smshusdns S

2 EImALLD

3)  gzrer wpHM s s wirear Guimsert

4)  @bHur Bemaiubd Lina

Assertion (A) : Indirect taxes contribute a major part of the total Taxation Revenue in
India

Reason (B) : These taxes cannot be evaded

1) Both A and B are true and B explains A

2)  Both A and B are true but B does not explains A

3)  Ais true but B is false

4)  Ais false but B is true

o mé aursfwubd (A), @bdu Cwrsgs afl eumwrasdad wanps auflger WsHwu LBiE
cudladlemmer. srgantd (B) @icucuans cuflser s6lméEs @unser.

1) A B@rarpb 2 amenw, B, A ew ellerggdng

2) A, B @ran(®hCw 2 ameno e B, A evw eflend@ousns sjenwweildena
3) ‘A eamen pamd ‘B e araniowien

4) ‘A2 amenwwenny yearme ‘B o awrenio
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48. In a freely floating exchange rate system

1)  The current account and capital account add to zero

2)  Each account can individually be equal to zero

3)  Exchange rate is determined by market forces

4)  Exchange rate is determined by the central monetary authority

spLWDHM Hmeuard geng UBIGsmeT W&ESHERSE elhumer Geluwd uflorpn aldfls
enoliben

1) pLULS samsE, sl (H sans@ Carsdlean g edGym

2) geulleun(m saméELb e emeilad LsedlwigSn @ Folb

3)  uflwrhp Mg Smsary elamssermd SToralssiiLBhdng

4)  uflbrhp sb ewow Bl Gl _gsme SroralssliLGEng

49. India is large exports of tea and a small exporter of bicycles. In this context, which
one of the following is true?

1
2)
3)

4)

An export subsidy to tea would improve India's terms of trade in the world tea
market

An export subsidy to tea would worsen India's terms of trade in the world tea
market

An export subsidy to bicycles would improve India's terms of trade in the world
bicycle market

An export subsidy to bicycles would worsen India's terms of trade in the world
bicycle market

@pdur fls emelled Czullemeenwin|d, @GoPHE SeTelled mFSESldTHmeTuDd FHMILS
Qeiflmg). Spseim_esuhmier erg #fl?

1

2)

3)

4)

2 &5 Caullene msmquid, @bduraier euamfils ouubg ebdlpansamens Couleana
ghmwdsEs sriu@b wreflwb CobuBhssdng
2 &5 Coullenar msmquiled, @ndlwumeliler cuantls eUUbBS eldlpamsamer Csulana
FHOIHEGS sTILED wraflub paleuds5Hns)
2 &F MFsSlET omsTquilld, @Bdlwumeiler euamfls @UUBS eldpansamer amassler
gHmId&EES SriLmIb wreilwb Cuobu®hSgSng
2 W& MFsESlET omsTquilld, @Bdwumeller euamtfls eULUbBS elfpannsamer amassler
FhmIdé@s STOLELD wreiluibd pele|uHSaEng)

50. Which measure cannot check inflation?

1
3)

Surplus Budgeting 2) Increase in direct taxation

Curtailment in Public expenditure 4)  Cheap money policy

ThS BENL_(PEnD LITei&E5mSS S HLILI[HSSTE?

1)
3)

MO0403

Wlens eure| Qgawey S L LD 2)  Coirg euflelfldlible ey
Qurg§ QFalarsmasd GamnsEHe 4)  walley HlHs Qamerens
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51.

52.

Which of the following is not true about recently declared 'foreign trade policy' of

India ?

1)  Whole export sector will be free from service tax

2)  To get a world trade share of 1.5% by 2009

3)  Ensuring 20% growth per year in export in next 5 years

4)  Export limit reduced to Rs.750 crores from existing Rs.1000 crores from getting

'town' of export excellence standards

Sjanrenoudled oMledlsslinl L ‘@ndwmeiler Sjwe BT (h euamnfleas Cararansudla é%IE'QGSGIbeI_ THS

6EIM 2_EHTENLOUIHMS)?

1
2)

3)

4)

W eomidli QurmLseEnb, Caameu aumluladlmbgl allewd @ Clumidlenmenr
2009 @b 2 s auanfls G960 1.5% & Cumiged

9HEF BHSTAT(HSEHEGET, W (H&EG gHmwd Hfsn 20% isb HasfseErm

cuariiEslenw 2 migl Clguigen

ghmindl el el (panulalma@n 1000 Gsmgser eremuang 750 Csmgserrss

G@D55. ghmnd s7 ALY elpg) TS5

Which of the following is included in M, ?

1y
2)
3)

4)

Gold
Demand deposits
Saving deposits

Credit cards

Epsareupmer ergl, M, Qe Camdsliuiq mLring)?

1
2)
3)

4)

SMhIGLD
Calymid eneulils Cgrengger
Caillliy eneuliLyg Csmensser

HL_GT <2|L_6nL_GHET
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53.

54.

55.

An increase in the money supply causes :

1) interest rates to fall, investment spending to rise, and aggregate demand to rise
2)  interest rates to rise, investment spending to rise, and aggregate demand to rise
3) interest rates to rise, investment spending to fall, and aggregate demand to fall

4)  interest rates to fall, investment spending to fall, and aggregate demand to fall

venr edblCwrs glafiy Csromediivier

1) el eldlg aipsd, a6l (h Grwey SiHsfliiy @l HOwrsss Comen sy
2) aliy eildlg o wiey, s HEF QFwe] iFshliy @l HQwrsss Comeu sy
3) aly dldls adsfiy, sl Hib Cewey aipss, @l HEwrsss Coameu sflge

4) ey dls eSipsfluded efey, sl (& Ceweyd Mg ol (HOWLTss Comeu Fillay

Interim Liquidity Adjustment Facility (ILAF) involved adjustment of
1)  Repo Rates

2)  Reserve Repo Rates

3) Bank Rates

4) (1) and (2)

QeLssre uarbdlyl Qurmlsefler evsulmliing Frenwliy cusd (ILAF) Spssramid
SraniolienL o araTL_GEwg)

1) A0Gur eldgmiser

2)  fMareu ALCUT el s miger

3) sl ldlgmiser

4) (1) wpmibd (2)

The commercial loan of banking means that bank should

1) be more commercial

2)  restrict their securities holding to those of commercial sector
3) attempt to sell more commercial assets

4)  restrict their lending to short-term, self-liquidating loans

cumidludlen euenflads &Leir eremiig) wimblgentle

1) WEdyb auailsl Cursdoamnsd

2)  aafsl GQfleysCanu Qesw, M gsamens s (HLULIHSS0
3) 9i$E auanfls cueThIGameT 64 DS (LPWEIFHED

4) SLGT HIHLD (LPEOMEMET AHE GOMHS HMeOd HLENSH6T, Fil-LanTodllLl Gummlsefle
&AL sLengeT erenm HL(HLIL[HSSHE CaTeT@ensa
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56. Labour Exit Policy commonly denotes
(I) Easy Entry
(II) Easy Exit
(III) Labour Market Flexibility
(IV) High Wages
Codes :
1) I II and IV
2) I II II IV
3) IV III and II
4) 1 II and III

2 aplICumt QeueflCupms Qararans CUTgelTss GHLILg)
D) eafu papay

dI) ereflw QeueCwmmid

(III) o erpliy BT CBSpssHe,

V) owm smelser

e &@EMuIHs6r :

1) I II wogoIV

2) I II IO IV

3 IV III womw II

4 1 II wpmwo I

57. An Industry whose long run supply curve is horizontal is called
1)  Constant cost industry
2)  Increasing cost industry
3)  Decreasing cost industry

4)  Efficient industry

@@ Qsmdogimpuie Barl sre elalCwurs cumearey da bl LioTs @) BLILS CTRIBIETD
SnP&aLIL[HE g eTetle

1)  fHeowss srfagmns eweas Qsmans

2)  9dsflsen Asmagmns Qswa)s CsTans

3)  @opywb Asmagmns dswea|s Asmans

4 foendle Agmflagion
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58. Which one of the following services is included in the service sector of Indian
Economy?

1)  Transport, storage and communication

2) Financing, insurance, real estateand business service
3)  All of the above

4)  None of these

@pHus QumrmerrsrysHer Spsramib ehss Comeu, Comeu Hlneiasdear Gsameusaflan
CarssliuLl_(herarg)?

1)  Gums@eaursg GaolliLy Hmib s&eud Gy

2) B, pujer s, Mwe erevCLL, efwmunys Caeneuger

3)  Cuhamplu Semeandgib

4)  Guhammdlu ergieyam

59. Which among the following is NOT included in policy framework of NPP 2000?
1) Imparting free and compulsory school education above 14 years of age
2)  Reducing infant mortality rate

3)  Achieving universal immunization of children against all vaccine preventable
diseases

4)  Making family welfare a people centred program

NPP 2000 Qsrerens cuanyeier Spsaam erg @)L bGELpaicanc?
1) 14 cuwgs@ G @eveus s Ll ueTetls seell srliuL. Ceuemr(Hd
2)  8& wraw aNfs5mss G0

3)  sOUYUF epod FHLOFLWSE i Amarsg  ChTUsEpssTar  HHULSSMmETdS
GLPHEMSEET DA EETE (H&(ELD @urr@g_r,ei)

4)  @HDU pOSMS &SET MWL L S L LDrs & @S0

60. Disguised unemployment generally means?
1)  Large number of people remain unemployed
2)  Alternative employment is not available
3)  Marginal productivity of labour is zero

4)  Productivity of workers is low

weanps Gouameulleneno HLmgalns eTanss GNSSH DG ?

1) =fs aamantisasule waser Gouame eumiiGen @ HmSsea
2)  wrpn CeuemaeumiiliL] flenL_ssTenLo

3)  &leflibyblenavs Qsmfled 2 HrgH eSGrm

4)  Qagmflerariserg 2 HusHiiLieant Wlsea|b @Gmney
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Minimum Support Price for agricultural products is finally approved by

1)  Union Cabinet 2)  Ministry of Agriculture
3) The Parliament 4)  The President of India

@ppsul s efeurswls QumBLsErssTer 2 56 ol QnSHurss Spssam eerdlerme

smEsssliLh&ng
1) wellwer Caler 2)  Gouemmesr e nFFSHD
3)  UMImEhLOGTMHLD 4)  @QBIHWUS GLWIES SEMEeUT

What is the economic cost of foodgrains to the Food Corporation of India?
1)  Minimum support price + bonus paid to farmers + transportation costs.
2)  Minimum support price + bonus + interest cost.

3) Minimum support price + bonus + procurement incidentals + charges for
godowns.

4)  Minimum support price (including bonus, if any) + Procurement incidentals +
distribution cost.

@B 2 e s HPESSDeTan 2 ara|s sratunigafler (UTHETTSTT LSselanea 6Tg)?

1) @onpsuls 2569 el + eleusmullsErs@ sTUULL 2a&5560sTams+CUTEEGEUTSSIF
Qe

2) @onhsULF2 g6l el + 2as5560FTMms +aullgE CFawey

3) E@nHsULF 2 g6l allevae + 2a158550FTEMS + CETETLPSED FahFer Fma|ser + CabllLs
SIS SL_LamThISET

4) @onbsULF 2 g6l allene + 2ar&5505Tans gL HLIG6 Damnsu|D Cargg+@aTaTpse
Fa(Hse LFajser + allallCunss Cawe]

TR = 100Q-5Q? than MR is

1)  100-5Q

2) 100 -10Q
3)  100Q - 10Q
4 100Q <5

TR = 100Q-5Q? erafléy, Ger MR @risard <ienowid

1)  100-5Q

2) 100 -10Q
3)  100Q - 10Q
4 100Q <5
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64. Monopolistic competition differs from perfect competition due to

1)  Large number of firms and heterogeneous product
2)  Large number of firms and homogeneous product
3)  small number of firms and differentiated products

4)  only a few firms and similar product

saflwrr gefluyfewert Curiy erearug) wppbBlanney Gumguiledmbg CoumLihioug eCerefla
1) =fs aamantlsasulorer Blimeuarbser GeueiCoum QUMHLsmaTs SWmilssHe

2) ods aravrenilGanauieonear fimeuammiger oGy wrHfl Qurmlsmens swmflssad

3) @b aanailsamaullemer Hlnelamisear teucuGaum GurmLgmens swimflsse

4)  &§ fo Bimeuamser G wrdHfl Qurmanars swThgse

65. Which one of the following is not an assumption of Neo-classical’s growth theory?
1)  Perfect competition in commodity and factor markets
2)  Factor payment equal their marginal revenue productivity
3) A capital — output ratio

4)  Full employment in the economy

Epsaeam_cunmier peiers Qeeleiluc cueridd QSMeTeanss &(HSE ADOTHS) 6T ?
1) wpuilape Gurly Curmlasaflgid, ,&65865mm SiksTq &b’

2) &ssamm uenliul (Heurr, edeflby eumeurls 2 pusSHerws sfl QaiiSpg
3)  epesear— Qeualuil () eldsDd

4)  Qurmernsmrssled (pp GCouameaaumuiiLiL

66. Special Drawing rights are created to ——————— international liquidity
1) Decrease
2)  Increases
3) Constant
4)  None of these

Apliy cumdls sansE uard a(EEL o flewser FreuCsels uamrwdliyl Cummlsaerflen

aguldlmLienL o (HeUMGSLILIL_(heTeTen
D @@pliusHe
2) 9IS FM&s
3) Aowsdmess Qe
4)  GupQsrerar erge e
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WTO is
I. Agent of the united nations

II.  Weighted voing

ITII. Legal Entity

IV. Rule based

Choose the correct answer

1) (@ dI) dII) dV) are correct
2)  (I) (IV) are correct

3)  (II) (III) are correct

4)  (III) V) are correct

WTO ereig

L. &8 pr@safien (peeao

II.  wdiymLw airseg,

III. gL yreu seflliLiesry

IV. &4 sribsg

sflwren ellenL_anwis Caitey GFuis
1) (D) dI) (II) (IV) <y fwer &M
2) (@) dAV) &M

3) D dI) g dwer gf

4) (1D AV) - dwer g

The criteria for judging efficiency of the agricultural marketing system with regard to
the physical handling of the goods is known as

1)  Operational efficiency criterion

2)  Pricing efficiency criterion

3)  Distributive justice criterion

4)  Net present criterion

efleusmu ymisTg wpanmuied, QumpLsamend eswm@hd Fner AT (D feTameud &L Lener
ellgl @mimiend dluiLGSng

1) Qewe 556 SjeTeneud s Laner als)

2)  elene Hlranru ereneus sLLaner 6l

3) Blurmuy el udliey Sereneld &L L_aneT alls)

4)  Qwrs$s sgam leTenes sLLamar 6dld)
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69. A Kissan Credit Card (KCC) scheme was introduced in the year

1) 2001
2) 2005
3) 1998
4) 1999

Savrer eurafer e (KCC) Sl b Spsaaim p,amged SPlpsliu(iEsIuLl L g,

1) 2001
2) 2005
3) 1998
4) 1999

70. Disguised unemployment in the agricultural economy in the underdeveloped
countries is due to

1)  Deficiency of capital equipment

2)  Surplus of effective demand

3)  Deficiency of effective demand

4)  Surplus of effective supply

TGO L Cauamanderais eflaismurs QuIrmasmsd aariips prRsaid Spéstamib
STIETSSTO FHLBS DI

1) epogers smedll LDDTEHEGEmD

2) Wenss Coemeuuliian edlenaray

3)  CGzeaeuuler allenera|ls LHDTE@G®mMD

4) Vs NallCurs allanerey

71. Agricultural Productivity means
1)  Total yield per acre
2)  Total yield per hectare
3) Average yield per acre
4)  Average yield per hectare

elleusmu 2 HLSE eTemLig)
1) gaQanmgésiar Gorss ellmessd
2)  geueurm GansLMer Clorgs ellenardaad
3)  eeulleun(p gasilean syraf allenerdge
4)  gealeun QansLfer rmaf allenersse
MO0403 28 H



72.

73.

Write the name of the chairman of the finance commission from the first to four in

order?

L. Santhanam

II. Chanda

III. Neogi

IV. Rajamannar
1) L ILII IV

2) LIV, L 1T

3) L, 1, 11, IV
4) IV, ILIIL I

W3 LS @GS sl (PpSe Bratsreug S L &Epdsmaalm euampuillorar CuwiTsamer

aflosiL(Es)s.
I shsranb

II.  spar

III.  HCwré

IV.  gregwenermit
1) LILIIL IV
2) LIV, L 1T
3) L, 1, 11, IV
4) IV, IL 1L I

Suppose that the price of apples and banana are Rs. 10 and 5 respectively. If a

consumer currently obtains a marginal utility of 4 and 3 from last apple and banana
respectively then he/she should :

1
2)
3)
4)

buy fever apples and more bananas
buy more apples and fewer bananas
buy fewer apples and fewer bananas

none of the above

< U9er, eurenipliipld S dlweupdler ellaned (pepmCw LSS EHLIML, &b eHLIT 6T6Tn eHeSS)

Qamrerereomd. e Mm&TCaumT @UGLITg afleflbLblened LW & BreTE LOHMID EPTHENETS

g8 U6 HMID eurenpliLipsSledlmbg CLmeurCr <,udlem 6T/ jeueT

1
2)
3)
4)

GBS W LdaTsmaerbd <5 eurenpliLiphigameTu|d eurbdulmssa Ceouem(Hd
<85 <9I LD, GEDEUTET aUTELRLILIpEISamETLD euTrkdud misd Coalam(id
G®NHS A LIAETHEMETLD, G®DHS UTenpLILIPEISmETLD eurhiSlullhese Coemr(hbd
Cunaadlu ereneuyld @eeney
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74.

75.

Transfer earning of a factor is

1) Minimum amount necessary to keep a factor in its present occupation
2) Maximum amount necessary to keep a factor in its present occupation
3)  Actual earning of the factor

4)  None of the above

,EEHEHFaH 6T LDTHDH 6(HEUTU 6GT6TLIS)

1) yéssmblar <GUI@sL LWL () Haald Gmsss CsmaliL@b GmnhsUL L
SieudlwF QFeeiard

2)  epbsbemden eLCUTmSL LT () Hoould Qméss CosmaliL@b obHsul ss
Qgrens

3) SiGeT O LDUIWIMTET GU(HGUITUl

4)  GuhampPlu ergleyb e

What is meant by opportunity cost?

1)  The cost of allocating scarce resources

2)  The revenue lost by missing an opportunity
3)  The equilibrium price for a scare good

4)  The value of the next best alternative use for a resource

‘eumlitiy eflenev” eretrigent Ol LIm(paT wimg)?

1) uDDTEG®D ApeeUaTRIGMET &GS (H CFwb GFaway

2) @@ eurlilienu @riugréd Gumib eumeurul @l

3  qmofiu Qurmeller erdlCrHCr QuniEL sTéEsRsERESE QL ularer frenwd allame

4 @O poasgisEE bS5 Apbs LrdmL LW IsGTw ALEE
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ROUGH WORK

31 MO0403



ROUGH WORK

MO0403 32



